Unit

6 Trigonometry

Sr. o
w| Questions A B C D
— . T 3
1 The. va.Iue of tan™"2 in n 3n 111 111
radians is: 2 2
In a right triangle, the
hypotenuse is 13 units and
2 | one of the anglesis & = 30°. | 6.5 unitsv’ 7.5 units 6 units 5 units
The length of the opposite
side is:
A person standing 50m
away from a building sees the
3 |top of the building at an 50 mv 25m 35m 70m
angle of elevation of 45°.
Height of the building is:
10— tard  —
4 | o= I sin? 6 1v cos? 6 cot? 0
5 If sin 6 :%andH is an acute 7 24 6, 4
angle, then cos? 0 = 25 25 25 25
6 | (Z)rad =___ degrees. 30° 37.5°V 45° 52.5°
. 17 17
7 2925 = rad. — L 1.6m 1.625mv
WMubammes.aiyan) s Ohrisgan Baska
valid identity? sin@v’ ey — cach — i
o 1 V3
— _ 2 o
9 | Sin60 , 1 5 Jv(3) > v
cos?(100m) +
v
T sin?(100m) = 1 . & =
Solution of MCQs
1 | Use calculator.
. opposite or perp.
sin30 = i i
hyp )
2 = opposite = hyp.x sin 30
=13 X 05
= 6.5
. er
tan45 = il
base .
3 = perp = base X tan 45
=50x1
height = 50
4 1+tan?6 =sec?0 = sec?f —tan%0 =1
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sin?6 + cos?6 =1
cos?20 =1—sin?0
3.2
9
5 =1 - =
25
259
- 25
16
25
6 (511) . (Sn i 180) _37c
24) "% =\ ) 7"
7 202 5°—(2925><L)rad—ﬂ—1625n
T 180 g
8 cos(E—H) =sin 0
2
9 | Use calculator.
10 | sin? 0 + cos? 6 = 1 Pythagorean identity for any
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